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General Instructions: 

a. There are 22 general questions. 
b. Question No. 1-7 are very short- answer questions carrying 1 mark each. Answer 

to each of these should not exceed 40 words. 
c. Question No.8-13 is short- answer questions carrying 3 marks each. Answer to 

each of these should not exceed 8-100 words. 
d. Question No. 14-20 are long- answer questions carrying 5 marks each. Answer to 

each of these should not exceed 150 words. 
e. Question No. 21to22 are related to identification or locating and labeling of 

geographical features on maps, carrying 5 marks each. 
f. Outline maps provided to you must be attached within you answer-book. 

 
S. No. QUESTIONS MARKS 

1 Give two reasons for unfavorable sex ratio in the world. ½+½=1 

2 What is Digital Divide? 1 

3 What are administrative towns? State one example from India. ½+½=1 

4 Explain the term market gardening. 1 

5 In inter-state migration, from rural to urban areas males have the 
larger share. Why? 

½+½=1 

6 “Development is class biased in India.” Discuss. 1 

7 Equity refers to making equal access to opportunity available to 
everybody. explain 

½+½=1 

8 “There is a direct dependence of human beings on nature for 
resources which sustain them”. Justify the statement in the light of 
environmental determinism 

3 

9 Discuss the problems associated with urban settlements in 
developing countries. 

3 

10 Development is always qualitative change which is always value 
positive evaluate the statement. 

3 



11 Identify the settlement pattern and write their name.  
 
 

 
 

1+1+1=3 

12 Compare mixed farming with dairy farming.   1½+1½=3 
13 What is town? Classify towns according to population size. 1+2=3 

 
14 Define ‘Population Density’. Explain any four geographical factors 

that affect the distribution of population in the world. 
5 

15 In spite of significant development, Indian agriculture suffers from 
some problem. Analyze the statement. 

1+1+3=5 

16 Explain the geographical condition required for tea cultivation and its 
production. 

5 

17 Analyze the factors that have caused spatial variations in the level of 
human development in India. 

5 

18 The modern economic development in the world is mainly the result 
of development of quaternary services. Analyze the statement. 

5 

19 Rural and urban areas have also emerged into two separate, social, 
political, economic, cultural and technological divide. Explain the 
statement with examples. 

 

1+1+3=5 

20 Discuss the factors responsible for imbalance in the age-sex structure 
found in different parts of the world. 

5 



21 

 
 
Show the following on the given map: 

a. Place of nomadic herders 
b. Commercial farming regions  
c. Densely populated regions  
d. Country having highest HDI  
e. Country having highest density 

5 

22  
On the outline political map of India provided to you, locate and label 
the following with appropriate symbols: 

a. Rice producing state 
b. State with highest HDI 
c. State having lowest sex ratio 
d. State having maximum in migration 
e. State having highest literacy rate 

 

5 



 


